Quiz 10.1-10.3	Name: Key
2 points each. No calculator 12 Show work on separate paper.	Pts. Per = NS ON NEXT PAGE
1) Find the arc length of the	curve: $x = t^2$, $y = 2t^2 + 1$, $1 \le t \le 3$.
@ 1615 6 40 624	
② Graph the curve given $1 \times = t^2 - 1$ and $y = 1 - t^2$.	oy the parametric equations is allowed these this sust @ None of these
	Better answer is = up and back
-2 ·2 ·2 ·2 ·2 ·2	Better answer is = up and back
(3) Find the corresponding re	ectangular equation by eliminating $(1 + 1)^2 + (1 + $
@ x+y=1 @ y=x+1 @ x	C = y + 1
	$y = \sin \Theta$.
(Q-4 CSC30) (Q = CSC20 (Q-2	sec ² 0 @ \fractocsc0 @ None of these
	quation $x^2+y^2-2y=0$ to polar form.
@r=2cos0 @r=zcsc0 @r	$=2\sin\theta$ $\hat{\otimes}$ $r=-2\sin\theta$ $\hat{\otimes}$ None of these
O Find dy if x=√t and y:	$= (t-1)^3$
@3(t-1)2 6 GVE (t-1)2 C) 6($\frac{(t-1)^2}{t}$ ($\sqrt{(t-1)^2}$) None of these
	Problms from Larson

Work Solutions

1. Arc length:
$$X=t^2$$
, $y=2t^2+1$, $1 \le t \le 3$
S= $\int_0^b \sqrt{(x^1(t))^2 + (y^1(t))^2} dt$ $x^1(t)=2t$
= $\int_0^3 \sqrt{(2t)^2 + (4t)^2} dt$
= $\int_0^3 \sqrt{4t^2 + 16t^2} dt$
= $\int_0^3 t \sqrt{20} dt$
= $\int_0^3 t^2 \cdot 2\sqrt{5} \int_0^3 t^3$
= $(9-1)\sqrt{5}$

2.
$$x: t^2-1 - x=1-t^2$$

 $y: 1-t^2 \Rightarrow y=-x$
 $y \le 1, x \ge -1$
 $t=0 \Rightarrow (-1,1)$
 $t=1 \Rightarrow (0,0)$

3.
$$\chi = t^2 + 2$$
 $y = t^2 - 1$
 $t^2 = \chi - 2$ $y = (\chi - 2) - 1$
 $t = 0 \Rightarrow (2, -1)$
 $t = 1 \Rightarrow (3, 0)$
 $t = -1 \Rightarrow (3, 0)$

4.
$$X = 2\cos\theta$$
 $y = \sin\theta$

$$\frac{dy}{dx} = \frac{dy/d\theta}{dx/d\theta} = \frac{\cos\theta}{-2\sin\theta} = -\frac{1}{2}\cot\theta$$

$$\frac{d^2y}{dx^2} = \frac{d\theta}{d\theta} \left[\frac{dy/dx}{dx/d\theta} \right] = \frac{\frac{1}{2}\csc^2\theta}{-2\sin\theta}$$

$$\int = -\frac{1}{4} \csc^3\theta$$

5.
$$\chi^2 + y^2 - 2y = 0$$

 $r^2 \cos^2\theta + r^2 \sin^2\theta - 2r\sin\theta = 0$
 $r^2 - 2r\sin\theta = 0$
 $r^2 = 2r\sin\theta$

6.
$$X = \sqrt{t}$$
 $y = (t-1)^3$
 $\frac{dy}{dx} = \frac{dy/dt}{dx/dt} = \frac{3(t-1)^2}{\frac{1}{2}t^{-y_2}} = \frac{6\sqrt{t(t-1)^2}}{6\sqrt{t(t-1)^2}}$